

Bihar State Power Transmission Company Limited, Patna

(Regd. office: Vidyut Bhawan, Bailey Road, Patna) Contact No : 0612-2504487,7763813835 Fax No: 0612-2504487 TINVAT No. 10011257007 TINCST No. 10011146136 CIN- U40102BR2012SGC018889

> email-cecivilbsphcl@gmail.com (Department of civil of BSPTCL

निम्नांकित कार्यो की मुहरबंद निविदा आमंत्रित की जाती है। निविदा सूचना संख्या:- 69/PR/BSPTCL/2015

कार्यों का विवरण	प्राक्कलित राशि	अग्रधन की राशि	परिमाण विपत्र का मूल्य (नहीं लौटाने योग्य)	कार्य पूरा करने की अवधि
Estimate for the Extension of Control room at 132/33 KV GSS Muzaffarpur.	ক ০ 8,17,222.00	₹ 16,500.00	₹ 1,250.00	2(Two)

निविदा जमा करने का समय 15.00 बजे तक दिनांक 21.08.2015 एवं निविदा का तकनीकी भाग खुलने का समय उसी दिन 15.30बजे।

निविदादाता की पात्रता, निविदा से संबंधित कागजात इत्यादि बोर्ड के बेवसाईट http://bsptcl.in से डाउनलोड किए जा सकते हैं। डाउनलोड किए गए निविदा कागजात के साथ पात्रता संबंधित कागजात, अग्रधन की राशि एवं परिमाण विपत्र के मूल्य के रूप में कैश / डिमान्ड ड्राफ्ट जो वरीय प्रबंधक (वि० एवं ले०) बिहार स्टेट पावर ट्रांसिमषन कम्पनी लिमिटेड,,पटना को भुगतेय हो तकनीकी एवं वाणिज्यकी भाग—1 के साथ संलग्न करना अनिवार्य है अन्यथा निविदायें पूर्णतः रदद समझी जायेगी। निविदा प्रपत्र अधोहस्ताक्षरी के कार्यालय से निविदा देने की तिथि से एक दिन पूर्व तक अर्थात दिनांक 20.08.2015 के कार्यालय अविध तक प्राप्त किया जा सकता है।

मुख्य अभियंता(असैनिक)

भ्रष्टाचार संबंधित शिकायत हेतु, बि०एस०पी०(हो०)कं०लि० विजिलेंस मोबाईल हेल्प लाईनः नं०— 9431821485, 0612—2504969. उपभोक्ता बिजली बिल सहज वसुधा केन्द्र अथवा http://bsebbills.org माध्यम से भी जमा कर सकते हैं।

e-Tendering introduced in BSPHCL for tenders above Rs 10 lacs. For registration log on to www.eproc.bihar.gov.in& contact Helpdesk at 0612-2523006.

बिहार स्टेट पावर ट्रांसमिषन क0 लि0, पटना

	<u>असानक विभाग</u>
निविव	दा सूचना संख्या———————
	Name of work:- Extension of Control room at 132/33 KV GSS at Muzaffarpur.
	विषेष शर्ते:-
1.	निविदा दो भाग में होगा— (क) पार्ट—1— तकनीकी एवं वाणिज्य भाग तथा (ख) पार्ट—2 दर भाग।
2.	तकनीकी एवं वाणिज्य भाग में निम्नलिखित कागजात जमा करना होगा:—
	(क) अग्रध राषि।
	(ख) पूर्व वर्ष का आयकर का बकाया रहित प्रमाण पत्र।
	(ग) स्थानीय सेवा शुल्क का प्रमाण पत्र (Local Service Tax)
	(घ) आयकर संख्या (पैन)
	(ड़) ठेका मजदूर प्रमाण पत्र।
3.	दर भाग:- In form of above/Below/Estimated.
	साथ ही ये भी बतायें कि उक्त राषि का आधार क्या है ?
4	(क) दोनों भाग दो प्रति में मोहर बन्द लिफाफे में जमा करना है।
	(ख) एक दर भाग का मोहर बन्द लिफाफे को एक तीसरे बड़े लिफाफे में डाल कर मोहर बन्द कर जमा करना है।
	(ग) प्रत्येक लिफाफे के उपर फर्म का नाम एवं पता लिखा होना चाहिए एवं निविदा संख्या ——————— भी लिखा होना चाहिए।
	(घ) दर भाग के लिफाफा के उपर दर भाग एवं तकनीकी भाग के लिफाफा के उपर तकनीकी भाग लिखा होना चाहिए।
	(ड़) दोनों भाग कम्पनी द्वारा निर्धारित फॉर्मेट में भरना होगा।
5	निविदा जमा करने की अंतिम तिथि —————— को अपराह्न 03.00 बजे तक है।
6	निविदा का तकनीकी भाग दिनांक——————— को अपराह्न 03.30 बजे निविदाकर्ता या उनके प्राधिकृत प्रतिनिधि के सामने खोला जाएगा।
7	वित्तिय भाग में पथ निर्माण विभाग के पत्र सं0—2046(s) दिनांक—6.3.14के आलोक के आधार पर 10 प्रतिषत से नीचे डाली गई राषि मान्य नही होगा।
8	अग्रधन की एवं जमानत की राषि:—
	(क) अग्रधन की राषि के रूप में रू0— $16{,}500.00$ जमा करना है।
	(ख) अग्रधन राषि राष्ट्रीयकृत बैंक ड्राफ्ट के रूप में वरीय प्रबंधक, वित्त एवं लेखा बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड,पटना के पास जमा करना होगा।

- (ग) सफल निविदाकर्ता को जमानत राषि जमा करना होगा।
- (घ) जमानत की राषि निविदाकर्ता के कुल वार्षिक दर का दस (10) प्रतिषत होगा।
- (ड़) जमानत राषि अग्रधन राषि से कम नही होगा।
- (च) सफल निविदाकर्ता के अग्रधण राषि को जमानत की राषि में समायोजन कर दिया जाएगा एवं शेष बचे राषि को नगद जमा करना होगा।

12 एकरारनामा:--

सफल निविदाकर्ता को 15 दिनों के अन्दर अधोहस्ताक्षरी के साथ एकरारनामा करना होगा।

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA

CIVIL DEPARTMENT VIDYUT BHAWAN, BAILEY ROAD, PATNA

TD 1	3 T	3 T		
Tender	Notice	No	 	-

TECHNICAL PART

TENDE	R PERFORMA FOR T	ECHNIC	CAL PART.			
1 (A) Name of the firm		:-			
(B) Registered office ad	ldress :-				
(C) Established in Year		:-			
(D) Name of the top Ex	ecutive	:-			
(E) Designation		:-			
(F) Telephone Numbers	3	:-			
(G) Fax Number		:-			
(H) E-Mail		:-			
(I) Mobile Number		:-			
Attach s Sl. No.	separate sheet if necess Name of Department		Name of work	Valı	ie of work	Date of completion
31. No.	Name of Department		Name of work	Valı	ie of work	Date of completion
_	tration with statutory both A) Local Service Tax N		close attested copy	of docume	nts in support	of this:-
(B) Income Tax Numbe	er (PAN):	-			
(C) Labour License:-					
D) Earn	nest money:-					
Name	& Address of The Bank	Bank D	Praft or Money Rece	eipt No.	Date of issue	Amount
E) Date	of amount paid toward	ds purchas	se of Tender Docun	nent.		
Money I	Receipt Number	Dat	e of issue		Amount	
•						

4. Last Income Tax clearance certificate/Return (Enclose copy):-

Year of Assessment	PAN No.	Amount paid to I.T.

5. Acceptance of the terms of payment	:-	
6. Acceptance of the Technical Require	ment :-	
7. Acceptance of the penalty clause	:-	
8. Remarks if any:-		
Date		Signature of Tenderer with Stamp
		Designation
		Name of the Firm

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA

1. N.I.T. No. 69 /PR/BSPTCL/2015.

2. Name of Work Extension of Control room at 132/33 KV GSS at Muzaffarpur.

3. Estimated Cost Rs.8,17,222.00 only

4. Cost of B.O.Q. Rs.1,250.00 only

5. Earnest Money Rs.16,500.00 only

6. Date & time of receiving tender

7. Date & time of opening tender

8. Duriation of work 2 (Month) year

Issued by Issued to

M.R. No- dated.

	BIHAR STATE P	OWER TRAI	NSMISSIO	N COMPA	NY LIMITED	
		PRIC	E PART-II	[
7	TENDER NOTICE NO.	NIT.No. 69/	PR/BSPT(CL/2015.		
	Name of Work	Extension o	f Control r	room at 132/	33 KV GSS Muza	ffarpur.
	Estimated Cost	Rs. 8,17,222	2.00			
	Cost of B.O.Q.	Rs. 1,250.00)			
	Earnest Money	Rs. 16,500.0	00			
Date	& time of receiving tender	21.08.2015	(Upto 3:00)	PM)		
Dat	e & time of opening tender	21.08.2015	(upto 3:30]	PM)		
	Completion time	2(Two) mor	nths	·		
		BILL OF	QUANIT	TY		
Sl.no	Item of work	Quantity	Unit	Rate in Rs./Unit	Rate in words Rs./Unit	Amount
1	Demolishing brick work including stacking of serviceable material and disposal of unserviceable material within 50 meters lead: in cement mortar	12.41	Cum	435.70	#NAME?	5407.04
2	Taking out doors, windows and clerestory window shutters(steel or wood) including stacking within 50 meters lead. Of area 3 sqm and below	3	Nos.	30.80	#NAME?	92.40
3	Boring, Providing and installing cast in situ single under reamed piles of specified diameter and length below pile cap in M-25 cement concrete, to carry a safe working load not less than specified, excluding the cost of steel reinforcement but including the cost of boring with bentonite solution and the length of the pile to be embedded in pile cap etc. all complete. (Length of pile for payment shall be measured upto to the bottom of pile cap): 300 mm dia piles	32.93	M	1934.2	#NAME?	63693.21

4	Providing and fixing aluminium work for doors, windows ,ventilators and partitions with extruded built up standard tubular sections/approprite Z sections and other sections of approved make conforming to IS:733 and IS:1285, fixing with dash fasteners of required dia and size, including necessay filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/neoprence gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically whenever required including cleat angle, Aluminium snap beading for gazing/aneling, C.P. brass/stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge (Glazing ,panelling and dash fasteners to be paid for separately): Anodised aluminium (anodised transparent or dyed to required shade according to IS:1868, Minimum anodic coating of grade AC	275	kg	354.8	#NAME?	97570.00
5	Extra for providing heavy sheet glass panes instead of ordinary glass in glazed doors, windows and clerestory window shutters. (Area of opening for glass panes excluding portion inside rebate shall be measured): 13.75 kilograms per square metre (5.5 mm thick) instead of 10 kg/sqm(4.0mm thick)	22.8	Sqm.	214.1	#NAME?	4881.48
6	Providing and laying position cement concrete of specified grade exluding the cost of centring and shuttering -all work up to plinth level.1:2:4(1 cement: 2 coarse sand:4graded stone aggregate 20 mm nominal size)	5.17	Sqm.	3323.1	#NAME?	17180.43

7	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorption's less than 0.08% and conforming to IS:15622 of approved make in all colours and shades, laid on 20mm thick cement mortar1:4(1 cement 4 coarse sand) including gruting the joint with white cement and matching pigments etc., complete.Size of Tile60x60cm.	55.05	Sqm.	1671.9	#NAME?	92038.1
8	Providing and laying in position specified grade of RCC excluding the cost of centring ,shuttering ,finishing and reinforcement Allwork up to plinth level in 1:1.5:3 with 20mm nominal size	2.21	Cum	3881.2	#NAME?	8577.45
9	RCC work in wall (any thickness), including attached pilasters, buttresses, plinth and string course, fillets , column, pillars, piers, abutmen ts, posts and struts, etc up to floor five excluding the cost of centring , shuttering , finishing and reinforcement in 1:1.5:3 with 20mm nominal size	14.56	Cum	4436.6	#NAME?	64596.90
10	Supplying and filling in plinth with local sand and under floors including watering ,ramming consolidating and dressing complete.	31.39	Cum	192.5	#NAME?	6042.57
11	Providing designation 100 A one brick flat soling joints filled with local sand including cost of watering, taxes, royality all complete as per building specfication and direction of E/I	56.79	Sqm.	227.6	#NAME?	12925.40
12	Brick work with bricks of class designation 100A in foundations and plinth in:Cement mortar 1 .:4 (1 cement: 4 coarse sand)	20.51	cum	4184	#NAME?	85813.84
a	Extra for Brick work in superstructure above plinth level upto floor V cum	18.69	cum	434.6	#NAME?	8122.67

13 A	Centring and shuttering including strutting,propping etc. and removal of form for. Lintels, beams, plinth bams, griders, bressumers and contilevers.	41.4	Sqm.	251.3	#NAME?	10403.82
13 B	Centring and shuttering including strutting,propping etc. and removal of form for.Columns,Pillars, Piers, Abutments, Posts and Struts	21.37	Sqm.	344.4	#NAME?	7359.83
13 C	Centring and shuttering including strutting,propping etc. and removal ofform for. Weather shade,Chajjas, corbels etc. including edges	7.02	Sqm.	385.8	#NAME?	2708.32
13 D	Centring and shuttering including strutting,propping etc. and removal of form for. Suspended floors, roots, landings, balcnies and access platform	56.38	Sqm.	275.6	#NAME?	15538.33
14 A	6 mm cement plaster to ceiling of mix :1:4(1 cement: 4 coarse sand)	58.7	Sqm.	77.4	#NAME?	4543.38
14B	Cement plaster in course sand 12 mm cement plaster of mix: 1:4(1 cement :4 coarse sand)	150.9	Sqm.	100.3	#NAME?	15135.27
14 C	Cement plaster in course sand 15 mm cement plaster on rough side of single or half brick wall of mix. 1:4(1 cement: 4 coarse sand)	103.48	Sqm.	116.3	#NAME?	12034.72
15	Neat cement punning	56.38	Sqm.	27.9	#NAME?	1573.00
16	Extra for providing and mixing water providing materials in cment concrete work in the proportion recommended by the manufactures.	68	per bag (50kg)ce ment	48.07	#NAME?	3268.76

17 A	Distempering with oil bound washa ble distemper of approved brand and manufacture to give an even shade. New work (two or more coats) over and including priming coat with cement primer	127.7	Sqm.	64	#NAME?	8172.80
17 B	Finishing walls with water proofing cement paint of approved brand and manufacture and of required shade to give an even shade New work (three or more coats)	129	Sqm.	60.5	#NAME?	7804.5
18 A	Providing and applying plaster of paris putty of 2 mm thickness over plastered surface to prepare the surface even and smooth complete.	127.7	Sqm.	76.8	#NAME?	9807.36
18 B	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	129	Sqm.	76.4	#NAME?	9855.60
19	Providing and fixing on wall face unplastidsed- PVC(working pressure 4 kgf per sqm) rain water pipes conforming to IS :4985 including jointing with seal ring conforming to IS: 5382 leaving 10 mm gap for thermal expansion.110 mm diameter	10.5	M	214.2	#NAME?	2249.10
20	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete.				#NAME?	
21 A	Thermo-Mechanically Treated bars TMTC-500- 12mm dia.	800	Kg	71.8	#NAME?	57440.00

1		1	1	1	1	· · · · · · · · · · · · · · · · · · ·
21 B	Thermo-Mechanically Treated bars TMTC-500- 10mm dia.	390	kg	73.1	#NAME?	28509.00
21C	Thermo-Mechanically Treated bars TMTC-500- 8mm dia.	210	kg	74.4	#NAME?	15624.00
21 D	Mild steel 6.0 mm dia	180	kg	70.4	#NAME?	12672.00
22	Carriage of material.				#NAME?	
	A. Local sand(1+2 km)	32.24	cum	233.16	#NAME?	7517.08
	B. Sone sand(86 km)Koilwar	21.81	Cum	1199.24	#NAME?	26155.42
	C. Stone chips(275 km) Mirza chowki	20.82	cum	3437	#NAME?	71558.34
	D.Briks(1+7 km)	11964	per thou	659.45	#NAME?	7889.66
23	Difference of cost against Gaya zone	172	Cum	417	#NAME?	71724.00
	A.Cement	51.605	Thou	633.18	#NAME?	32675.25
	Brick	29	Cum	233.16	#NAME?	6761.64
24	Deduction of Serviceable bricks	2453	per thou	5023.58	#NAME?	1232284.00
25	Removing mortar from old bricks	4.97	cum	1427.9	#NAME?	7096.66
				Total		817221.84
	,	Say R	Rs 817222.00	<u> </u>		
	Note :- Quot	ted rate belov	w 10 % will	l not be acce	eptable.	
	Name of the Contractor		:-			
A	Address of the Contractor		:-			

I/we offer in Figures in words % (Percentage) High / Less/Estimated rate as mentioned in the Bill of quantity.	:-	IN FIG.	
	:-	IN WORDS	

Date	Signature of Tenderer with Stamp
	Designation Name of the Firm